
                                                                                mod . 450 L/E

GASKET

Article No. Material COLOR Temperature

96260 NBR WHITE RAL 9016 -30° / 110°C

96261 EPDM GREY 70 Shore A -15° / 90°C

96265 SILICON CLEAR WHITE -50° / 200°C

96266 FKM BLACK RAL 9017 -10° / 250°C Ø 474

O
10

4

3

10

7

13

12

15

14

6

9

5

8

2

1

11

Item Article No. Designation Q.ty

1  7TA9430 FRAME 1

2 7CA9420B COVER 1

3 93009 PIN Ø12X52 4

4 91007 SPINDLE M14 L=142 4

5 97205 LOKING BUSHING 4

6 95421 CIRCLIP RING Ø10 5

7 94170 HANDLE MEC/80 BLU 4

8 97307 BLU CAP WITH LOGO 4

9 9626 GASKET MOD. 450P 1

10 93017 PIN 1

11 82027 SUPPORT 1

12 95038 SCREW M12X30 1

13 95010 SCREW M10X20 1

14 95209 SELF LOCKING NUT M12 1

15 95206 SELF LOCKING NUT M10 1

6


